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Introduction:
Problem statement

1. Recently, Hawkridge has noticed that it has taken longer than usual to produce consolidated reports. Getting ahold of ad hoc reports takes even longer. 

2. The company used a series of linked transaction processing systems (sales, payroll, accounting, inventory, etc.) but had no ERP system.

3. The company owned about 2,000 desktop computers, 20 servers and 2 mainframes, although these numbers may be off since the company did not maintain a central inventory of IT assets.

4. There was a general feeling of dissatisfaction with the quality and functionality of IT at Hawkridge.

5. Some IT functions were being outsourced on an ‘ad hoc’ basis to a variety of independent consultants, although no outsourcing strategy existed at the corporate level.
Strategic analysis

Our group would like to suggest Hawkridge use outsourcing for its entire IT segment.  In a global economy based on skilled services, outsourcing has become the backbone of many efficient, well-organized enterprises. Properly conceived and implemented, outsourcing can increase revenue, improve cost-effectiveness, and enable organizations to better manage their assets and concentrate in their markets.  Developing and maintaining its own system becomes a constraint, given Hawridge’s IT budget which is limited to $10 million. In addition, since Hawkridge’s core business is the mining industry, it would not able to manage its information technology as well as firms that specialized in managing IT.  Outsourcing allows management to focus on its core competencies and save money while introducing faster, more accurate, automated processes. Moreover, according to Hawkridge’s management, its two main divisions, Nickel and Copper, each has its own IT departments, which could lead to redundant or mismatched IT infrastructure. Besides, updating and maintenance services do not appear to be expensive. There are plenty of IT technicians on the labor market whose salaries are very low. The advantages and disadvantages of outsourcing are as follow:

· Advantages:

1. Hardware economies of scale: with multiple customers (since Hawkridge is a large mining company based in Toronto with interests in Canada, the U.S., South America and the Caribbean, and sales offices in Europe and Asia.), outsourcers can use more cost-efficient larger computers or obtain discounts on volume purchases of hardware.

2. Staffing economies of scale: a larger customer base, such as Hawkridge’s scale, also makes it possible for outsourcers to hire highly skilled, specialized technical workers
3. Specialization: providing computer services is one of the core competencies of the outsourcing company. 
4. Tax benefit: Hawkridge can deduct outsourcing fees from current income, in contrast to depreciating computer hardware purchases over three or five years.

Outsourcing may solve problems, but more significantly, it may lead to many hidden business benefits, such as renewed focus on core business, mitigation of risks by reliance on an expert, service improvements, skills upgrade, retention and access, cost reduction, and avoidance of capital investment. 
· Disadvantages:
1. Limited economies of scale: although outsourcers can negotiate larger discounts on hardware, the advantage may not be significant, especially over a five-year life of a mainframe.

2. Staffing: in some case, the outsourcer shifts the better former employees to other accounts.
3. Lack of business expertise: the employees might become more technically-oriented and have less knowledge of the business issues.
4. Contract problems 
5. Internal cost reduction opportunity: organization can achieve many of the cost savings of outsourcing by improving their own IT management.
Key assumptions

1. Companies must put centralized governance structures in place or establish offshore program management offices to support their offshore relationships. Without this centralized support and administration, companies will incur far greater risk and will not be able to derive business value from these relationships.
2. Companies should look for value-based pricing rather than the lowest possible price.

3. Since the company will outsource from different vendors, we have to make sure that the IT functions from different subcontractors can be compatible with each other.

4. We assume that outsourcing will definitely bring benefit to Hawkridge.

5. We assume that outsourcing will be more cost-efficient than setting up Hawkridge’s own IT functions.
6. The proper, suitable IT functions to be outsourced must be carefully evaluated. For example, the production and operations managements (POM) differ considerably across organizations; manufacturing companies use totally different processes than do services organizations.
Overall Architecture:
Overall approach

Basically, our group would suggest Hawkridge outsource all the IT functions needed in its organization, such as Microsoft products and MAS200 in inventory and payroll management. Here are some guidelines to help Hawkridge as they outsource their IT functions:

1. Short-period contracts: outsourcing contracts are often written for 5-10 years. Because IT and the competitive environment change so rapidly, it is probable that some of the terms will not be in Hawkridge’s best interests after 5 years. If a long-term contract is used, it needs to include adequate mechanisms for negotiating revisions where necessary.

2. Subcontracting: vendors may subcontract some of the service to other vendors. The contract should give Hawkridge some control over the circumstances.

3. Selective outsourcing: if Hawkridge prefers not to outsource the majority of their IT functions, but rather to outsource only certain areas. 

The ideal system 

Presently, Hawkridge has no strategy for approaching its IT issues.  It only comprises some IT assets and a WAN network for communications. Since Hawkridge is an international corporation with a budget limited to $10 million, the implementation of a hierarchy network system with Database Management System and a network of a mix of intranet and extranet would be recommended for the company.  Moreover, Hawkridge has two main divisions, Nickel and Copper, each of them with their own IT departments. It is recommended that these two divisions integrate their IT departments, since the employees in them are already familiar with those systems.  As a result, the budget could be better destined to develop a sound outsourcing system and management.

Hardware environment

It is recommended to assess the existing system in order to account for as many factors as possible before making a decision.  Some of the most relevant points follow:

1. The majority of IT assets are used to support administrative operations (desktops, printers, etc.).  

2. The company owns about 2,000 desktop computers, 20 servers and 2 mainframes, although these numbers may be off since the company does not maintain a central inventory of IT assets.

First of all, our group suggests centralizing the inventory of IT assets in each country so that the company can know how many desktop computers, printers, servers, mainframes and other computing hardware are owned, and how many of them are available to operate.

Second, the company should buy all the hardwares locally, because hardware distributors will only provide warranty locally.

Software environment

Regarding software, we recommend that the different operations in each country should have their own mainframe to centralize all the data in its area and serve as a mirror server of others areas backup. Moreover, each type of files should be stored in the same format so that it is easier to be managed and used when mining data is required.

Present situation. 

1. The company uses a series of linked transaction processing systems (sales, payroll, accounting, inventory, etc.) but has no ERP system.

2. The company maintains a large database containing mineral exploration data and another large database for R&D.

It is our recommendation to use Microsoft 2000 for all the mainframes and workstations and use MAS 200 and Microsoft Office for the TPS system. There are several benefits in doing it. First of all, they are available off the shelves. In this way, a lot of time and money invested to develop the software ourselves would be saved. Second, these softwares are mainstream ones. Thirdly, technicians and operators are really in the labor market. We can hire them with a relatively lower price as opposed to designing programs on our own. Finally, it is easier for us to exchange information with our vendor when the extranet is ready.  

Network Architecture – major network(s) and how they connect 

The network that the company communicates with its subsidiaries now is through a wide area network by connecting with many local area networks.

It is not a good approach since it is difficult to manage the network and has a very high risk to be attacked by hackers.

Our group recommends that each location should have its own LAN, sharing some pieces of hardware, such as printers and also information with each other by intranet and extranet, protected by a firewall. Each LAN should have a single database, protected by a database management system. 

Internet Architecture – major components of an Internet strategy

Since Internet access becomes increasingly more economical, a website to promote Hawkridge can be created.  Moreover, sales and vendors can use the website to log in the LAN and download updated data from the regional main office, by means of a file transfer protocol.

Virtual Private network could be used to exchange files between regions and the main office in Toronto. It is a safe and fast network, which is using Internet service as its backbone.

Other Problem…

HERE STARTS THE SECOND PART…

